Continuous CW system

file :=“E:\Profile.xlsx”

h:= READEXCEL (file , “mullion!B3:B22”)
Ixx := READEXCEL (file , “mullion!D3:D22")
Zx:=READEXCEL (file, “mullion!F3:F22")

Profile := READEXCEL (file , “mullion! A3:A22")

Selection profile

[ 50] [ 31.35] [ “FW 50/50 322 250"
65 5555 “FW 50/65 322 260
85 108.42 “FW 50/85 322 270
105 167.25 “FW 50/105 322 280”
125 278.59 “FW 50/125 322 290”
150 42376 “FW 50/150 322 300”
175 663 “FW 50/175 322 310”
175 731 “FW 50/175 326 250”
200 1010.13 “FW 50/200 326 030"
225 | 135244| . “FW 50/225 336 230”
h=lo5g| leimhoveomi=) oeggg|om Profile= “FW 50/250 336 240”
250 2518.27 “FW 50/250 336 240+336260”
250 3160.6 “FW 50/250 336 240+484010”
300 3592.17 “FW 50/300 903 7712”
250 5160.6 “FW 50/250 336 240+484010+ 2- MS 5mm”
250 5560.6 “FW 50/250 336 240+484010+ 2- MS 6mm”
250 6360.6 “FW 50/250 336 240+484010+ 2- MS 8mm”
250 7160.6 “FW 50/250 336 240+484010+ 2- MS 10mm”
250 7312.43 “FW 50/250 336 240+STEEL STIFFINER”
300 | 13441.17] | “FW 50/300 903 7712 +steel Stiffiner”

Given Material Propeties




4.3 — ._|35 kN “casel”
Lpg= m = WL-Lt= X CASE=
BR [5 ] R [1.572] m [“Case2”
[294.737 242.006 |
166.337 136.577
85.224 69.977
55.247 45.362
33.167 27.233
21.805 17.904
13.937 11.443
1264  10.379
. 9.147 7511
1 — 6.832 5.61
0o =] L = mm
(185 Ea,.lxx) (o L’ 5252 4312
3.669 3.013
2923 24
2572 2112
179 147
1662  1.364
1.453  1.193
129  1.06
1.264  1.038
0.687  0.564 |
TOL:=10"*
i:=0.. last(CASE)
A ==max (lookup (|| if Lzz <4.1 m I I T
LBR[.
175

elseif 41 m<Llz, <75 m

LBR .

—I+ 6.4 mm
240

else




profile:=for : € ORIGIN .. last (A)

Ri <—P’)°0f7/l€ match (Ai,ﬁmge(i)) J
17
Zxs:=for 1 € ORIGIN. .. last (A)
R —Z
A m(match (Ai,(smﬁ) )
R
|
21.805 “casel” . “FW 50/150 322 300”
= CASE = le=
[17.904] [“Case2”] Profile=| «pw 50,/150 322 3007
3wé
RR=V,=R;=V, . . ... ....... = —
st:[48.89] j = = = 3
48.89 10wé€
e TR T =
8
Swé
V=V SR
Wx:=Zzxs-cm® = 48.89 cm?® : 8
48.89 we?
My =
8
2
M, | at ﬁ ............... = =
8 128
wét
A, (at0.4215 €, approx. from R, and R,) . .



Check for bending moment
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